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SUMMATIVE ASSESSMENT -1, 2016-17
fasrv / SCIENCE
el - IX / Class - IX
Frutfta wag : 3902 fararaw 3t : 90
Time Allowed : 3 hours Maximum Marks : 90
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General Instructions :
1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

2. All questions are compulsory

3.
4.

o

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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Apart from iodine solution, name two more solutions which are used to stain the slides of
cells.

T o T T I G S B ¥R e

State the type of motion of a freely falling body.

7t fslt o =1 geamm 1 T = e s, o fRet few e fafves oo & o1 @ 3% SO R
YE g 7 ,

If mass of a body is doubled, what will be the effect on its acceleration under the action of
certain given force ? '

TR i TH HAT A1 S FARES BT HE R 27 S TR F T R |

How is heating of sugar and heating of ammonium chloride different from each other ?

Explain your answer. :

=ita =1 viEie § faamm Teie sas & A fafag) @ Sl € srsfy S o £2
Name the muscular tissue which is present in the iris of the eye. What is the shape of these
cells ?

i e g 9 i & e g e % iR T e

Give reason-stone falls towards the earth but earth do not rise towards the stone.

= = =n = fTone TRd 9l (58 TER W9 FHd € 2 UM S 9T Al ddiE & 8 ey
=wam fafa

Name the separation technique by which we can obtain coloured components from ink? Give
two more applications of the technique used. ' : .

aTY i 3 S FI IR FIT a2 79 7w A Yag T Ui = Seer@ S|

Define solid state of matter. State properties associated with this state. _

75 T W A & Y 15% (Famm/amEad) =i & faeram & fraa died # sravgsa aft?

How many litres of 15% (mass/volume) sugar solution would it take to get 75g of sugar ?

wArREE FRE § F vl = a9 9EE & 5 w7 W i)

How do lysosomes perform the functions of defence, digestion and cleansing in the cell ?
lain.
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Name the following :
(i) Tissue which makes the plant hard and stiff.
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(i)  Tissue which transports water and minerals vertically.

(iii)  Tissue which allows easy bending in various parts of a plant without breaking.

(iv)  Tissue which provides buoyancy to the plants to help them float.

(v)  The chemical present in cells of cork which makes them impervious to gases and water
(vi)  Tissue which transports food from leaves to other parts of the plant.

Py et & s g @Y, 50 Py, S sfer 7 7y & Y GO AT A M gL A AT50 3
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Which accident will be more damaging, collision between two trucks moving with a

sped of 50km/hr. or collision between two cars moving with a speed of 50 km/hr.?
lain.
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A stone weighs 490 N on a planet whose acceleration due to gravity is
one -half of the earth’s, value. Calculate.
()] Mass of the stone
_ () Weightofthestoneonearth. 4 0
14 s fEEiagF ey v el 6 v b
()  CmEHH R Qo §2 % g
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When will you say a body is in : »ings,
(D) uniform acceleration 0 3
(i) non-uniform acceleration ? M
Draw a velocity-time graph for each of motion. 2 S

15 1 2R 99 50 m/s ¥ 91 A @A 8ER 0.250 cm B g T A &1 3 H w0 HOIREEA 3
g | fere v & et @ Y Y

A fireworks shell is accelerated from rest to a velocity of 50 m/s over a distance of 0.250 m.
Calculate the acceleration. How long will it take for acceleration to become zero ?
et a5 1 YR Yo S Waw W392 N ¥ 39 IR 1 R feelt 7' W fRe @ feeen weEE 3

9ot | S oo e gt @ SR T E?
r The weight of a body on the surface of the earth is 392 N. What will be the weight of this body on a
' planet whose mass Is double that of the earth and radius is four times that of the earth ?
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(i) IR TEERE fewAR el % EReE S JEEE TEEN € T T W I R W
THA 9 & 9 dresiEl & 7w fafad

(i) I feafa ¥ s == dre o2

Meetu was much perturbed by reading a report that in 2010 fields of farmers in the Kathua
district were hit by a swarm of crop destroying grasshoppers which damaged corn, paddy,
fodder and barley crops. The agricultural department supplied pesticide spray at a subsidised
rate. Since she knew that excessive use of pesticide is harmful for human health and soil
fertility, she decided to bring awareness about it amongst villagers.

@i How do insect pests attack the plants ?

ii As chemical pesticides can be harmful for human health, mention two  biopesticides

ich can be used in their place. '

(iii)  What do we learn from the above situation ?

@) T BHA W fafEy s 7o dadd F waer § IS 1w ¢

(b)  Heen, U, T, FAT F14 & FER G FA F &1 $1 Seon § Hifg)

(a) Name the crop which can be grown in combination to fish culture.

(b)  Mention the feeding zones of Catla, Rohu, Mrigals, common carp. _

(@) v e ool 9 wew veet Ry M ¥ v I9Em w ge hf q9 TRl
ol § favied HifT

() T qun A & 7o A figed d fadeT wifvw

(@  You are given iron filings and sulphur powder. Using these substances differentiate
between physical and chemical changes

(b)  Differentiate between elements and compounds.

(@)  arsfeo =i ot fafew) et aon gt F9E A | T UG A B § FS w®IN GEHS
& el @ ?

(b) N TSRO AT T WA whRA €7 3 T @ = i ?

(a) Define evaporation. Out of nylon and cotton clothes, which will be more comfortable

during summer and why ?
(b)  Is evaporation and boiling the same ? If not then why ?

T 3 fo S o 7 T S 9
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Complete the following table for plants :



Complex Permanent Tissue

Y T

Composed of Four types
four different types of cells of elements
l l I l | | Ei

g D E F G H I ]
22 & 39 &fte 7= R G 9wl \ie A gher B 59 9 § 99 39 W o 9 v w6l |t 5

Tt aEe ) o orawr H 9% A6y T YR R A1 ST N HT, IHH Ie@ Ry | S
TN F fau AEvas vy 9@ & vfem § Ry weR aiedy g af

()  dfEw % wRH 3ig F S

@) 59 g= w @ R, 8 e ge s T

If you are trying to push a heavy box on a horizontal surface list various forces acting on the box. State
the condition under which this box will start sliding on the surface. How will the magnitude of applied
force required to move the box change if :
(i) weight of the box is increased
(ii) the surface on which the box is placed is made more rough ?

23 7=WE 99 R H diF fagel § fadew Fif 70 kg woeE & w siafe Inh w1 SEW W AR S
o €2 gt dem SR W IHE SHA FER?
Write three points of difference between mass and weight? How much would a 70 kg
astronaut weigh on the moon? What would be his mass on the earth and on the moon?

24 (@) FEFE (T OeM) FA g R E? 5
(b) IR TN H Seoi@ Hireg foren foe pape  T4-7 9t e famfaa @1 ot €1
(@)  What are the two major purposes of poultry farming?
(b)  Mention four desirable traits for which variety improvement or cross breeding is done
in poultry.

-3 /SECTION - B

25 T W VW H Sen F a9 W e § UiE eneeeiie o TR o (R ST T ¥ 1

o7 'q% FTelitiest 1 IEM FF ey, © FifE:

() TG 2 W ¥

(b)) T Haia g ¥
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(d) T TRE B S |

We should use a test tube holder while adding conc. hydrochloric acid to the solution

obtained after dissolving a dal in water because :

(a)  test tube might break

(b)  acid is corrosive

() acid might fall and cause burns

~ '(d) test tube will become hot . __ .

26 TR A TRA T H = $ ear e g e 3w wa i 1
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(a) U faufauez g=a gresd foma |
(b) uw fo Faufauee 3o R foemaa )
() o Faufauee =y foema |
(d) & faufauee 3= fes &9
Sarita dissolved starch in hot water by continuously stirring it. She obtained a :
(a) sticky transparent solution.
(b)  anon-sticky translucent solution.
(c) a sticky translucent solution.
(d)  astickly suspension.
27 @ e 9 au1 e TEe UE W fen ¥ orwst van fafy itk dw o R e €, @@ w1

g:
(a) T dd
(b) T A

(c)  wH wHit fago
(d) = femmitt figor

When iron filings and sulphur powder are taken in china dish, mixed properly and heated
strongly then :
(@)  anelementis formed.
(b))  acompound is formed.
(c) a homogeneous mixture is formed.
(d)  aheterogeneous mixture is formed. )
28 WRE Ol FI WA WO F WY WaEet d T R, @ EE 4ewEe 9 | AEA Geose # 1

TrEe ¥ fe YER awet e s wwa €2
(@) TRET H IFE W

(b) T H He

(€)  HTE SEHTHES H Hiet

(d) TG H dEER

When iron filings were heated with sulphur in a test tube, iron sulphide was formed. Iron
sulphide can be taken out of the test tube by :
(a)  inverting it.

(b) dissolving in water.

()  dissolving in carbon disulphide.

(d)  breakingit.

29 aftem weiEe F ORE e TR & fag T ue 1
@ TAFIAHA (b) T TR W
() Fga~AH (d) TR FFEHT
To get a clear solution of barium chloride, dissolve it in :
(a) tap water (b)  dil hydrochloric acid
(c)  distilled water (d) dil sulphuric acid

30 o ) foeeht it Sl sgar 7FE woe SRR w1 e SRy fiagdy § oiite e 1
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The temporary mount of onion peel's cells or human cheek cells is mounted in glycerine
because :

(a)  Its stains the material

(b)  Prevents drying the material

(c)  Provides support to cells
(d) _ Both(a)and (b)
31 g3 URY SO 91 US TRE 9aNeR & A ¥ St am suw gavEigEes e g, s ses 1

k-
o = fafa
(@ Yz (b)  FEAHEH
() TR (d) FA=HEm
Sushma observed the slide of a plant tissue under a microscope and drew diagram carefully.
The tissue drawn here is :
@ lignified cell wall
(a) parenchyma (b)  chlorenchyma
(c)  sclerenchyma (d)  collenchyma
32 mmﬁwmmﬂ%gﬂﬁmﬁ?ﬁ%lmm% 1

(a) TS F THA FHT SEH B ST B
(b) TEEH! TH HT FEH B R |
(c) To&!Iitae M g 1
(d) THEE! FTSHIHIO ST T e &
- The sublimation process requires a funnel and cotton piece. The reason is that it becomes :
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(a) easy to collect the sublimate
(b) easy to heat it
(c) easy to transport it
(d) easy to evaporate it }
33 fedft T2 & W 991 3/ T e 3 & fag saves 9@ F day wfm 0 F fag swEm w1
A ATt FAMIGR T | IRYE Teais Wa F & g 3ae sievawis g =

(@  05gwt (b) 1gwt

() 15gwt (d) 2gwt

For getting the most accurate reading to establish the relationship between the weight of the
wooden block and the force required to just move it the least count of the spring balance to be

used should be :
(a) 05gwt () 1gwt
() 15gwt (@ 2gwt

34 BEI F TN T HEF T8, Afegn TnEe, ¥R TE-ma wE fru ) Aedft @e ) . 2
T A & Teirg faeram 9 3R 3 Ral #1 Ae F0 ¥ fou % T Ieoe wife 3R 39
ol # fFE R & faeT wra g

Students were provided with fine powder of starch, sodium chloride and chalk powder. All were white
in colour. They were asked to prepare aqueous solutions of all the three and note their observations.
State the type of solutions they are likely to have in the three cases.

35 oA ah H T M FE w1 W R 91 e weea ¥ 37 onl @ e aniie F 9 2
W o fean 33 v ¥ fou frm o ot &1 gafiter s9gm fean o =ifee? oefdfer 1 =9
TF & 7eg § w5 g wfen SR fagw < R faeifea =i s wifgn?

Students were conducting an experiment to determine the melting point of ice. The teacher
emphasized on choosing the correct thermometer. What should be the range of the thermometer to
be

used? Why should the bulb of thermometer remain in the middle of the ice and the content be stirred

regularly? :
36 vl g stemifia @ &1 siema 30 6 % @ 7@ F e faendt 3 gEt feafast & 2

TAAM 4.0g T4 s H frirdt frvfiedl @ wsme 7.0g fare fran faafinl gr saeifva s =t
wiceraa wRefea Fifag) f wafre w4 o s €2

While doing an experiment to find out the percentage of water absorbed by raisins a student
recorded the mass of dry raisins as 4.0g and mass of raisins after soaking in water as 7.0g.
Calculate the percentage of water absorbed by raisins. Why do raisins get swelled up ?
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